Numericka rjeSenja zadataka 259

438 Fy,=-106,1 N, Fp,=117,5 N, Fx= 158,3 N, Fg, = F, = 31,13 N,
Fyy=Fcy=12,45N, Fy=Fc=33,53 N.

439  Fa =8,66 kN, Fo, =10 kN, F5 =13,23 kN, Scg = 11,55 kN, Scp = 8,66 kN.

440 Sgp=S8,=141F,Scp==5,=-F, Scg=S;=—0,471 F,
Fpay=-1333F,Fs,=-0333 F, FA=1374F.

441 Q.. =0-[2-(r+n)/R]

442 a=60°

443 Fx=250N, Fa,= 100N, Fy =2693 N, Fs=111,8 N.

444 F,,=—-42kN, F,=8,75kN, F, =9,706 kN, S = -2,88 kN.

445 Far=93N,Fa,=343 N, Fy=3554N, Scg=102,3N.

446 §,=-0875kN,S,=-2,125kN, S;=-5kN.

4.47 F,.=8kN, Fay=-2kN, FA=825kN, Fg =S, =4,47kN, 5, = 8,94 kN.

448 S =1235kN,S,=3,375kN, S;=3,867 kN.

449 5, =40N,S,=-60N, S;=—-70 N.

450  Fp=—1,5kN, Fa, =792 kN, Fy =8,07 kN, Fz = 2,12 kN,
S =-11,59 kN, S, = 2,2 kN, S; = 4,24 kN.

451 §,=15,6 kN, S, =-9,6 kN, S5 =-8,485 kN.

4.52  Fx.=303,1N, Fa,=336,65N, Fo =453 N, Fig=398,35N.

4.53 F,,=2828N, Fa,=-1,184N, F, =28,31N, Scp =-104, 5N.

454 Fy=1060,7N, Fc=375N, Fs=250 N,

Faq=-500N, Fay =750 N, (zbog grede AC)
Fpaxo=375N, Fay,, =750 N, (zbog grede AB) F, = 1505 N.

455 8§ =183,1 kN, §,=-136,9 kN, S5 =-40 kN.

456 8§, =-142kN;S,=7,1 kN; §3=-10,1 kN.

457 Fs=400N, F5=1000 N, F =346 N.

4.58 Fa,=2KkN, Fa,=8,53 kN, Fs =877 kN, Fg =4 kN, F = 16 kN,
Feo=14 kN, Fe, = 3,46 kN, Fc = 14,42 kN.

459 0,=150.

4.60 F,=4619N, Fs,=-577,4N, Fp,= 600 N, Fp =832,7N.

4.61 F=Fc=Fc=250N, Fc=353,6 N.

4.62 Q=12kN, Fa,=12kN, Fa,=-9kN, Fy = 15kN.

4.63 Fao=Fa=400N, Fy=Fp, =400 N, Fc =100 N, Fp = Fp,= 100N,
My=-320 N-m.

4.64 F,=F,,=1600N, M, =381 N-m, Fs=953 N.

4.65 F,=400N.

4.66 (0=23,094N.

467 Q=3,66kN.

4.68 F;=13,41kN; F,=14,53 kN, Fs = 14,41 kN.

4.69 (,=204,1N.



